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CRANBROOK H.S.

YEAR 10 ACC.YEAR 11 EXTENSION 1 TEST 10-03-05

Name:

Teacher:

Instructions: Show all necessary working throughout the test on A4 paper.

Time allowed: 50 minutes

L.

(a)

®

(©)
(d)
(e
®

Marked by JJA (13marks)

100 donkeys were sold at a loss of 18%. If their selling price was

Begin a new page.

2.

(2)
(b)
©
(d)
(e)

®

$25010, what was their cost price? (2m)
2 - 3
Evaluate correct to 2 decimal places: ‘]‘%if—zlgg (2m)
Simplify: 87" +16* (2m)
Write 3.26% as a mixed numeral. (Include all working steps.) (3m)
If Y1200 = x+/3 find the value of x . (2m)
Expand and simplify: 5(2t-3) — 4(3 -7t) (2m)
Marked by DGK [12 marks]
Expand and simplify: (3x~2y)? (2m)
Factorise: mp + 35 +7m +5p (2m)
Factorise: xP-x-12 (im)
Factorise: 12y* +16y -3 (2m)
Factorise: 343x° -y (’m)
Simplify: N S (3m)




Begin a new page.

3.

(2)

(b)

(©)

d

(e)

Marked by CJL (13 marks)

Ifx=2+ \/5 write x —’é with a rational denominator.
X
Solve for x: _x_—_-_3_ x=2 =2
4 3
Solvefor x: | 2x-3 | =x-7

Solve for x: =5

x-1

Solve, correct to 2 decimal places: 5x* —11x+3=0

Begin a new page.

4.

(a)
(b)
©
(d)
(®)
®

Marked by GC (12 marks)

xX+y=6

Solve the simultaneous equations:  3x—4y =67
Solve for x: 1257 =5*
If y =x* —4 state its domain and range.

1
x* -4

Ify= state its domain ard range.

Solve graphically [2x-3|>7

Sketch y ==3"" +3 showing any intercepts and asymptotes.

(2m)

(2m)

(3m)

(3m)

(3m)

(2m)

(2m)

(2m)

(2m)

(2m)

(2m)




S

o[l ExT \ TEST

)

7

\O"?>~QS

L Let ¢ s"asér__‘ Pt o = ﬁ_){»

(p) S(2¢-D)-a(37L)
| o 2%~ = %$asclo o = 10€-1S =13 428 .
ol s.x= 2S00 v = LT
o0
* = 30500

._2.

(ad - C ?)1—7—5\1

= Qx> - izmj 44'3 N
"131 ‘\' Q \%3 ....... (\0 ) W\P -\,— 33 ~\= —7 A + e
N 612" L = mpdSp N
L =L00f8413 ... | = PL:««&S) A wmAs) _
_(&’\1 g R ~\; anﬂ- R, @‘\) ,.':)'.3.‘—: 'X."“\ L:_C}L* 4 J\)’L‘..‘\'_:.))_V_{
- 2,3(%,1*\3 ,14(37&) a
= 2 GxAD o 2\2); P
U e _

) Let x= R.207000...

O = ,é@@(cyb 2 /
O x100: 100x = 36T ---C) B -
S ). A= NS @) 3431 -
S S 3;;1; _"‘tg_ /
= 3238

P

T

PR

s O \é}
23,207 = dlag

o v S=

s3
= A "y /

\J\200

—

-—

ﬁx-314°lx A-'l Ly iﬁg-)

3(&‘0(%3) (N o) -l»S(v\‘XL«\D

//_,

“"" p .

= 20392

—

DS

(O s P O L )

—

= RN ¢ 1222«_ e

@S‘B )C‘-Q )€ \;\Arg) /

TG =0y $\S

(&5;'319‘\; y'e tx‘rS}

-

< ks
LN




S S

- 3 \a. 93: - -—i; N ZA—JE . , -;Fé Vwi —— — —— —_
C ko= B @) =55 2SS x4y
[j - — ‘ *Sﬁ} i — e
._ 24E /(/ = -@M@; L é}g@l_ »_
:H . = éd‘i 8 / 2. 02 Sles_) -x(p_x;i “.
(’Lflj 5 sy o . .03 @_x~D[SC11~0 -x [
; = 2 > 2x=p) (- 94-S) /&
]f_-,‘;(%'"\l(gx?\m:‘&(l) . .ﬁﬁ__v—é%—s)(_‘heg*.@_ e
[ 3(3;-§) ~Hsx-) = 24—/'
o 1 -9 -20x4y =24
| ~\x =3as
} ]L sox= 22 w1

__RHS= =L #L&S Nog‘“

Cc\Se,:é.s__,:—Cl')L:i),L:;Lt7 e

, #iég%_

Ly S:Jréﬁ‘-{‘s\- 33 / -

lo=3

_RBS= - \;7

-3 4Lus |

:‘ NOSQ\I\. . . A - .
gw_prsoﬁm,v(<w_nmm

e ‘i‘@‘ - ._1.6._.<__ﬁ§




A '«3 S =( —(y @) 12x-3} >3 _
% ‘4"-\ Csh) ‘_"(5’) 1e %Qf_L_V %,MU.;LA\_A 3;‘ m;&__‘%_.j;_m_._w_‘
G DAy e — | ey
& 3 L/ ' /A\ﬁ /‘;{ /
I @) @ '__%7%14-9 — P ) A ﬂ o
. PSS JE N SR (S R N r—— 47
e 2o X =1 =G 2ex=13 A ~ m§ oy ‘
.‘,(‘13%‘9) = ( \’KI~"I) -2 T _,%_l
) 1S =S o /-
e gD gt LX 222 oe XZS N
B A S M2 8 / I
e e ~SU=x Q'/ . (2)__ g2 -4z o
—— _ S e R B _A-g_x_»;oa.__cs':*&.._..,t,_kaml,ﬁ.&ss@k\&*_;
at “W=3

—_— - - wgysg\,‘,.,s, QSbSMPkk S‘L@P& ‘/ \




